[Option ID = 1186]
3. 39.9/70.9

[Option ID = 1187]
4. 1:1

[Option ID = 1188]

48) The ratio of molar specific heat (C,/Cy) for monoatomic gas is,
el WRAIaD 311 6 sler fafdrese Ivam (Cp/Cy) T 3ro1urd 3lar 3 :

[Question ID = 298][Question Description = 148_S2_PHY_SEP22_Q48]
1. 5/3

[Option ID = 1189]
2. 5/2

[Option ID = 1190]
3. 7/5

[Option ID = 1191]
4. 9/7

[Option ID = 1192]

49) What is the length of a simple pendulum which ticks 2 seconds? (g =10 ms™2, n2 = 10)
2 s 3 R Rep eafor 3cusol w0l AIcT ATELNRVI cllcid Bl cidrE o= 8 © (g=10 ms2, i = 10)

[Question ID = 299][Question Description = 149_S2_PHY_SEP22_Q49]
1. 4m

[Option ID = 1193]
2. 3m

[Option ID = 1194]
3. 2m

[Option ID = 1195]
4. 1m

[Option ID = 1196]

50) A steel wire 0.5 m long has a mass 5 x 1073 kg. If the wire is under a tension of 100 N, what is the speed of transverse
waves in the wire?

0.5 m cidi s¥ura & ar @1 geeEaet 5 x 103 kg 3 Al ar & asaar 100 N 3 d ar 3 sy asil bl sIfer a=ir 3 :

[Question ID = 300][Question Description = 150_S2_PHY_SEP22_Q50]
1. 10*m s

[Option ID = 1197]
2. 103ms!

[Option ID = 1198]
3. 102ms!

[Option ID = 1199]
4. 10m s’

[Option ID = 1200]

Topic:- PCB02C

1) Rate of physisorption increases with:
siiferep siferonuur bt sifer aqedl 3

[Question ID = 301][Question Description = 101_40_CHE_AUG22_Q01]
1. decrease in temperature

AT Tetor 3

[Option ID = 1201]
2. increase in temperature

AT d@lol A



[Option ID = 1202]
3. decrease in pressure

GId fcol 3

[Option ID = 1203]
4. decrease in surface area

USRI SIqwel fciol A
[Option ID = 1204]

2) Which of the following statement is TRUE?
forgotferRaa 3 A wlol AT Berel AT 37

[Question ID = 302][Question Description = 102_40_CHE_AUG22_Q02]
1. Both crystalline and amorphous solids are isotropic.

fepeetier aliz sifdpeeilr S Gloll AASOID ympfer D Bl &

[Option ID = 1205]
2. Crystalline solids are anisotropic and amorphous solids are isotropic.

fipeetin SR fAuwaciom siie sifdpzectil ST JHSD it D 8l &

[Option ID = 1206]
3. Both crystalline and amorphous solids are anisotropic.

fopeetir sl sifdpzectir S cloll fawars o ypfer @ a1 &

[Option ID = 1207]
4. Crystalline solids are always isotropic and amorphous solids are anisotropic.

fpzectiRl ORI & JWSIOD IR sifcpeciiRr SRI feISidrD yoier  ald &
[Option ID = 1208]

3) Which of the following has the highest degree of ionization?
forraiferRaa # A fpadl sRIocfias2vT siftrasaa dem ?

[Question ID = 303][Question Description = 103_40_CHE_AUG22_Q03]
1. 0.1M of urea

0. 1M e

[Option ID = 1209]
2. 0.001M of urea

0.001M g

[Option ID = 1210]
3. 1M of urea

1M g

[Option ID = 1211]
4. 0.0001M of urea

0.0001M gfser
[Option ID = 1212]

4) The van der Waals equation, constant 'a’ is introduced to compensate for;
ais? arc Ifavr Reris 'a’ ----- &l sRuril & fére gy v sirar 3 :

[Question ID = 304][Question Description = 104_40_CHE_AUG22_Q04]
1. Reduction of specific heat

faforse Swam bt waft

[Option ID = 1213]
2. Compressibility factor

JidisRIar dRd
[Option ID = 1214]
3. Inter - molecular forces

3iAR- 31D dcll



[Option ID = 1215]
4. Total volume occupied by molecules

3MUL3HT GRI 831 ORI el 3IRIAel

[Option ID = 1216]

5) On increase in temperature in an endothermic reversible reaction shifts the equilibrium
am3rel 3 gy ool A v Hoaerdl Scapgviten sifdifopan 3, Amazen Rrenfira ar s 3-
[Question ID = 305][Question Description = 105_40_CHE_AUG22_Q05]
1. towards reactant's side
3ifdpR® b BB

[Option ID = 1217]
2. towards product's side

3cuIG bl B

[Option ID = 1218]
3. towards neither sides

smufyafefa &t 8

[Option ID = 1219]
4. terminates the reaction

sifdifepen 3o St 8
[Option ID = 1220]

6) Root mean square speed (urms), average speed (uay) and the most probable speed (ump) follows the order
aol A Hel AT (Urms), TR el (Uay) 3113 31fer Fisirea 31fer (Ump) et 3 Bicll 3 :
[Question ID = 306][Question Description = 106_40_CHE_AUG22_Q06]

1. Urms <Uay <Ump

[Option ID = 1221]

2. Uay > Urms > Ump

[Option ID = 1222]

3. Uay <Urms <Ump

[Option ID = 1223]
4. Urms > Uay > Ump

[Option ID = 1224]

7) The emf of the following cell is

Ag*(aq) + e — Ag(s) E° =+0.80V
FeZ*(aq) + 2" — Fe(s) E° =-0.44V
Fe(s) + 2Ag"(aq) — Fe?(aq) + 2Ag(s)

forgotferRae sifdifepen @1 emf 3 ¢

Ag*(aq) + e — Ag(s) E° =+0.80V
Fe?*(aq) + 2" — Fe(s) E° =-0.44V
Fe(s) + 2Ag*"(aq) — FeZ*(aq) + 2Ag(s)

[Question ID = 307][Question Description = 107_40_CHE_AUG22_Q07]
1. 1.16 V

[Option ID = 1225]
2. 1.24V

[Option ID = 1226]
3. 2.04V

[Option ID = 1227]
4. -1.16 V

[Option ID = 1228]

8) Which of the following statements about catalysts is false?



IRl @ aR i foarferRaa 3 A ®lol AT DT 3RIT 37

[Question ID = 308][Question Description = 108_40_CHE_AUG22_Q08]
1. Catalysts reduce the activation energy of the reaction.

IYRD 3ifdifcpR @ AfRRIvT ol DI DA DA &

[Option ID = 1229]
2. Biological catalysts are called enzymes.

Sifdred 3D BSlIsH DIl 3

[Option ID = 1230]
3. Catalysts do not alter the mechanism of the reaction.

3R siffifdpan bt fpenfafér o) uf¥afehd o wa &

[Option ID = 1231]
4. Even a small amount of catalyst can accelerate a reaction.

3R i eirst 2 aner oft sifdifepen @ o6t B2 A

[Option ID = 1232]

9) For the following first-order reaction, C;HsCl (g) — CzH4(g) + HCI (g), the initial concentration of C;HsCl was 2.4 x 1072
mol L'! at 300 K. The concentration of C;HsCl after 30 mins was 0.12 x 10-2mol L™'. Find the rate constant of the reaction at

300 K.
forgotferRaa yerar mife &t sifdifcpen @ ferg
C2HsCl (g) — CoHa (g) + HCI ()

C2HsCl &1 ypiftras Aigar 300 K ara ur 2.4 x 102 mol L™ aiiz 30 fireie @ arc igar 0.12 x 102 mol L' ot 300 K ara uz siféiRpzn w1
o1 RBerio sma GifSie

[Question ID = 309][Question Description = 109_40_CHE_AUG22_Q09]
1. 0.023 min!

[Option ID = 1233]
2. 0.23 min’’

[Option ID = 1234]
3. 0.023 mol L'"'min"!

[Option ID = 1235]
4. 0.23 mol L"'min"!

[Option ID = 1236]

10) Select the correct relationship between the Half-life of the first-order reaction and temperature.
et pife &t siftifepzn o1 3ref-31Ry 3R ara & dfa 3 Jgdce & fere 3wt fasey g ¢

[Question ID = 310][Question Description = 110_40_CHE_AUG22_Q10]
1. Inty2 0T

[Option ID = 1237]
2. Inty2 a1/T

[Option ID = 1238]
3. Inty o T2

[Option ID = 1239]
4. Inty a1/T2

[Option ID = 1240]

11) Which of the following statement is not correct for amorphous solids
sifépzeciil ST & an 3 foraiferRaa 3 A et AT et At ol 3 :

[Question ID = 311][Question Description = 111_40_CHE_AUG22_Q11]
1. They have sharp melting point

SoIebl JIcTolich forfe 3lar 3

[Option ID = 1241]
2. They are isotropic in nature

3 R Yt B A &



[Option ID = 1242]

. They are super cooled liquids

2 sifer-ofiferT ga &

[Option ID = 1243]
. They are short-range order in the arrangement of its constituent particles

SAD aRIdl Dull Hl wRrazen 3 crg-Jult D Gt &
[Option ID = 1244]

12) The coagulation of a positive sol, the flocculating power follows the order

1ol et @ Fcol 3 Hulol graaar, oA i aIdl 3 :

[Question ID = 312][Question Description = 112_40_CHE_AUG22_Q12]

1.

PO,* = S0,* >Cl” > [Fe(CN)]*
[Option ID = 1245]
- [Fe(CN)]* = PO.* > SO, > cI”

[Option ID = 1246]
PO,* < SO,* < I < [Fe(CN) 1+

[Option ID = 1247]

4. [Fe(CN)]* < PO, <S50, <l

1.

[Option ID = 1248]

13) The conjugate acid for NHs is:
NH3 @1 igedtt 3@t 3-

[Question ID = 313][Question Description = 113_40_CHE_AUG22_Q13]
NHz'

[Option ID = 1249]

2. NH3*

[Option ID = 1250]

3. NH4*

[Option ID = 1251]

4. NHZ

[Option ID = 1252]

14) In the free expansion of an ideal gas, the work done is zero, because:
uep 3Gl 1A B b YAR I v srRn orRi 9l alar 8, aiifee-
[Question ID = 314][Question Description = 114_40_CHE_AUG22_Q14]

1. It is frictionless

s eror 23 3
[Option ID = 1253]

2. Anideal vacuum cannot be created

oD gl forafd 18l detrRI S AFaar

[Option ID = 1254]

3. intermolecular forces of attaraction is present

SicrR3Nfvads MDHUr gel Bl &
[Option ID = 1255]

4. External pressure on the system is zero

forPrI W 9183t GId 9[o¥ Bldr 3
[Option ID = 1256]



15) The reaction with AH as +ve. would be spontanecus at
Hffera foweT AH SFTES &, T90: vafad et -
[Question ID = 315][Question Description = 115_40_CHE_AUG22_Q15]
1. AS = +ve, low temperature
AS = +ve, foror au @

[Option ID = 1257]
2. AS = +ve, high temperature

AS = +ve, 3cd au @

[Option ID = 1258]
3. AS = -ve at all temperature

AS = -ve, Jsft au w

[Option ID = 1259]
4. AS= -ve at low temperature

AS = -ve, folFel au w2

[Option ID = 1260]

16) Given van der Waals constant ‘a’ for gases A, B, C and D are 4, 3, 2, 1 respectively, which one of the following gase is
most easily liquefied?

&= oI difel 33 arc RFerics ' a ' SiAT A, B, C 3iiz D @ fare aparen: 4, 3, 2 3iik 1 8; fowafafRaa i A et 21 311 Je) smRImell A gfaa aef?

[Question ID = 316][Question Description = 116_40_CHE_AUG22_Q16]
1. GasD

staD

[Option ID = 1261]
2. Gas C

a1 C

[Option ID = 1262]
3. GasB

3B

[Option ID = 1263]
4. Gas A

SAA
[Option ID = 1264]

17) Which of the following serves as a adsorption indicators for fluorescein dyes?
forsaiferRaa 3 A Blel AT TRHRATST oI D fere sif2ronyur e bl s B B 3 ?

[Question ID = 317][Question Description = 117_40_CHE_AUG22_Q17]
1. Charcoal

ARDICT

[Option ID = 1265]
2. Silver nitrate

Ricaz oiisge

[Option ID = 1266]
3. Magnesium hydroxide

FoOIIRIT BIESIRIES

[Option ID = 1267]
4. Silver halides

Ricaz Scss
[Option ID = 1268]

18) Which of the following is correct regarding the energy of 2s orbitals?

forgotfeiRaa & A 2S snfdecr &bt eif @ FFacer 3 Dot a1 I8 8 ?



[Question ID = 318][Question Description = 118_40_CHE_AUG22_Q18]
1. EEE{H) = EZB(KJ = EZB{NE‘] = E:i"_s(]"i)
[Option ID = 1269]
Z. EEE{H) = EZB(Li) = EEE(Na) = EEB(K)
[Option ID = 1270]
3 E’ZE(L‘i) = EZB{NE‘) = Eﬂs(Kj =+ EZE{H)
[Option ID = 1271]
4 EEE{}() - EEB(NE‘) = EEB(L‘ij 24 EZE{H)

[Option ID = 1272]

19) Correct order for size of the given species is
&l orf Suferil @ PR I JAE DA 3-

[Question ID = 319][Question Description = 119_40_CHE_AUG22_Q19]

1. Na > Na > Na*

[Option ID = 1273]
2. Na*> Na > Na’

[Option ID = 1274]
3. Na> Na™ > Na*

[Option ID = 1275]
4. Na> Na* > Na~

[Option ID = 1276]

20) The element 'Re’ belongs to which group and period respectively?
dca 'Re’ qpaaor: 51 A31g 3iiR smad A ddfera 37

[Question ID = 320][Question Description = 120_40_CHE_AUG22_Q20]
1. 7and 6

73R 6

[Option ID = 1277]
2. 7and 7

73R7

[Option ID = 1278]
3. 6and7

6 3z 7

[Option ID = 1279]
4. 6and 6

6 32 6
[Option ID = 1280]

21) In the given reaction, the oxidation state of Cl in the major product will be
Cl,07 + H0 —

&t or¢ aiftifepRn 31, ggrza Ieurs 3 Cl &t smaeflaevr sraven apt :

Cl207 + H20 —

[Question ID = 321][Question Description = 121_40_CHE_AUG22_Q21]
1. +1

[Option ID = 1281]
2. +2

[Option ID = 1282]
3. +3

[Option ID = 1283]
4. +5



[Option ID = 1284]

22) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: BeH; molecule has a non-zero dipole moment.
Reason R: BeH; has linear structure.
In light of the above statements, choose the most appropriate answer from the options given below
il €1 ool fu e 31 uep @ sifdrperet (A) 3iiz g2 @1 a (R) @ar srm 3
sifdreret (A) : BeH; srvy w1 fsega smeguf ofs=r o1dl akar &
a® (R) : BeH; &1 3a=r ivaen it 3
SRfT Dl @ sirclie 3 foratifepa faaeul 3 21 8 3= ol :
[Question ID = 322][Question Description = 122_40_CHE_AUG22_Q22]
1. Both A and R are correct and R is the correct explanation of A
(A) 3z (R) Soil 21t @ aliz (R), (A) Bl At cermoenr @

[Option ID = 1285]
2. Both A and R are correct but R is NOT the correct explanation of A

(A) aiiz (R) cleil 31d 8 ueg (R), (A) Pi &t caren ol &

[Option ID = 1286]
3. Ais correct but R is not correct

(A) 38t 8 wog (R) &l o18l &

[Option ID = 1287]
4. Ais not correct but R is correct

(A) =t ot & weog (R) =t &
[Option ID = 1288]

23) Which one of the followings is the isostructural?
forgsifer3ae 31 3 Dlol-AT AT oIl DI oA 37
[Question ID = 323][Question Description = 123_40_CHE_AUG22_Q23]
1. NF3 and BF3
NF3 iz BF3

[Option ID = 1289]
2. BClz and BrCl3

BCl3 sz BrCl3

[Option ID = 1290]
3. NH3 and NO3

NH3 sfiz NO3~

[Option ID = 1291]
4. BF4’and NH4*

BF4 afiz NH4*
[Option ID = 1292]



24) Considering the given species and hybridization:

A NO; —sp®
B.NH,* —sp?
C NO,* —sp

Select the comrect option(s)

T L ST T I % o
A NO7 —sp?
B NH,~ —sp®

C. NO;* —sp
EEAREET AR U
[Question ID = 324][Question Description = 124_40_CHE_AUG22_Q24]
1. Aand B only
dact A siiz B

[Option ID = 1293]
2. BandConly

Dact B aiiz C

[Option ID = 1294]
3. Aand Conly

dact A 3iiz C

[Option ID = 1295]
4. Aonly

Dact A

[Option ID = 1296]

25) Statement |: Water molecule has bent structure.
Statement II: The hybridisation of H,0 molecule is spZ and O atom having two lone pairs.
Select the correct answer from the options given below:
ofidl &t perer Ru sme 3 :
Dol - | : urefl @ 3ruy bt Fzaron I ¢ Bl 3
@eret - |1 : H0 31vy a1 saeur sp? 3 siie O uzanyy 3 1 uorh i3 3
SRft Bl @ sl 3 forerfeiRaa freeul 3 A & 3= gl ¢
[Question ID = 325][Question Description = 125_40_CHE_AUG22_Q25]
1. Both Statement | and Statement Il are true
et | 3l et || ol 1w &

[Option ID = 1297]
2. Both Statement | and Statement Il are false

Dol | 3R derat | Sloll 3RIcT 3

[Option ID = 1298]
3. Statement | is correct but Statement Il is false

Dol | e 2 cfdpor dwerat | srRier 2

[Option ID = 1299]
4. Statement | is incorrect but Statement Il is true

Dol | 3rRIcT 8 cifdbor @werer || 21

[Option ID = 1300]

26) Which of the following is most electron rich hydrides?



forgoiferRaa 3 3 Dol AT AR UfAUD FcIagIel WS BEIES & 7

[Question ID = 326][Question Description = 126_40_CHE_AUG22_Q26]
1. NH3

[Option ID = 1301]
2. HF

[Option ID = 1302]
3. CHg

[Option ID = 1303]
4. H,0

[Option ID = 1304]

27) Match List | with List Il

List | List Il

A. HO |l. 107.8°
B. NH3 [Il. 93.6°
C. CHs [lll. 104~
D. PH; |IV. 109.5°
Choose the correct answer from the options given below:

gt | oot gt 1 21 gaafera @3-

et -1 Al
A. H,0 l. 107.8°
B. NH3 . 93.6°
C. CHy4 1. 104°
D. PH; IV. 109.5°

sifa fou s1u faeul 3 A w& IR DI golld B3-

[Question ID = 327][Question Description = 127_40_CHE_AUG22_Q27]
1. A-llLB-1,C-IV,D-1l

[Option ID = 1305]
2. A-lILB-1,C-1I,D-IV

[Option ID = 1306]
3. A-1ILB-1,C-1V,D-1I

[Option ID = 1307]
4. A-11,B-1,C-IV,D- Il

[Option ID = 1308]

28) The basic structural unit of silicates is:
Riferdde & a1 Fzaeicad o 3-

[Question ID = 328][Question Description = 128_40_CHE_AUG22_Q28]
1. SiO

[Option ID = 1309]
2. SO3%

[Option ID = 1310]
3. Si0g

[Option ID = 1311]
4. SiOq*

[Option ID = 1312]

29) Mohr’s salt is:
g2 cIavr aiar 3-

[Question ID = 329][Question Description = 129_40_CHE_AUG22_Q29]
1. FeS04.(NH4)2504.6H,0



[Option ID = 1313]
2. FeS04.(NH4)4504.8H20

[Option ID = 1314]
3. FeS04.(NH4)3504.6H,0

[Option ID = 1315]
4. FeS04.(NH4)4(S04)2.6H20

[Option ID = 1316]

30) Which of the following has lowest enthalpy of atomization?
forraiferRaa 3 A fp2rdt uRsue2vT bt vodictl Ia) @ 37

[Question ID = 330][Question Description = 130_40_CHE_AUG22_Q30]
1. Zn

[Option ID = 1317]
2. Cu

[Option ID = 1318]
3. Sc

[Option ID = 1319]
4. Ni

[Option ID = 1320]

31) Which of the following statement is incorrect for actinoids?
forgaifeiRaa 3 1 dlat 21 Derel ufdresiiss] @ fere srera 87

[Question ID = 331][Question Description = 131_40_CHE_AUG22_Q31]
1. They are radioactive elements.

3 ARMepll aca 2 &

[Option ID = 1321]
2. Actinoid contraction is greater than lanthanoid contraction.

clolrss arazdet bl getoll 3 efdesiiss srddor siférd diar &

[Option ID = 1322]
3. Actinoid metals are all silvery in appearance.

uftfeoiiss enqRl el 3t aidt &t avs ardt 8
[Option ID = 1323]
4. Electrons are filled in 5f, 6d and 6s subshells in actinoids.

ufdesifss 3 scracior 5f, 6d 3fiz 65 Sudell 3 a3 ST &

[Option ID = 1324]

32) Which of the following gas is used in arc welding of metals or alloys?
forgatferiRaa 3 1 Dlol-2H1 Icapte 31 DI IURIIPT T3l 3rrar IULIT3il @ 3 afesor I glear 8 ?
[Question ID = 332][Question Description = 132_40_CHE_AUG22_Q32]

1. Helium

Sifermr

[Option ID = 1325]
2. Neon

foraifor

[Option ID = 1326]
3. Argon

3ifefor

[Option ID = 1327]
4. Xenon

Siloifor

[Option ID = 1328]



33) How many isotopes of oxygen atom exist?
sifa=fisior uRavy @ fopaer FeRenfors 37

[Question ID = 333][Question Description = 133_40_CHE_AUG22_Q33]
1. 4

[Option ID = 1329]
2.3

[Option ID = 1330]
3.2

[Option ID = 1331]
4.1

[Option ID = 1332]

34) Which of the following statement is correct related to CaSiO3 obtained in the extraction of iron?
oIz @ forsasdiur a5 Sierot gra CaSiO3 @ Jdder  forgatfeilRaa 3t A Bt AT werer A8 37

[Question ID = 334][Question Description = 134_40_CHE_AUG22_Q34]
1. CaSiOs3 has lower melting points and is lighter than molten iron

CaSi03 @1 gaolicd @ Il 3 3R UG gdlid 3Rl 3 Ecehl Bl &

[Option ID = 1333]
2. CaSiO3 has lower melting point and is heavier than molten iron

CaSi03 @1 gaolicd @ Il 3 3i2 AB gdld 3R 3 913t 2l 2

[Option ID = 1334]
3. CaSiOs3 has higher melting point and is heavier than the molten iron

CaSi03 @I gaelids RIeT 8kl 8 3 a8 gl siRRer A 113t Al 3

[Option ID = 1335]
4. CaSiO3 has higher melting point and is lighter than the molten iron

CaSiO3 @ gaelics SeIIGT Bl & 3l A8 gl 3IRReT A bt BXdt 3
[Option ID = 1336]

35) Which of the following has minimum percentage of chlorine?
forrarferRaa 3 A1 fp2rdt aclidiar o1 yferora ojoraat 37

[Question ID = 335][Question Description = 135_40_CHE_AUG22_Q35]
1. Chlorobenzene

aciRIdstor

[Option ID = 1337]
2. Chloral

aetiet

[Option ID = 1338]
3. Ethyl chloride

DT aciiIss

[Option ID = 1339]
4. Hexachlorocyclohexane

SRIMACRRISAISII6T
[Option ID = 1340]

36) Among the following geometrical isomerism is exhibited by:
forgaifeiRaa 3t A senfdrdi=r JAsraRIaar foad gr1 ygfdfa ot sl 3?7

[Question ID = 336][Question Description = 136_40_CHE_AUG22_Q36]
CH5

cl



[Option ID = 1341]
CHCI

HsC CHs

[Option ID = 1342]
CHCI

[Option ID = 1343]
CHa-

[Option ID = 1344]

37) Which of the following is correct IUPAC name of the given compound?

ProfefEg & 4 ki w4 9fs sradhvrac @ B2

HiC H
— H
H>_/\<
oy

[Question ID = 337][Question Description = 137_40_CHE_AUG22_Q37]
1. 3-Bromo-3-methyl-1,2-dimethylprop-1-ene

3-quat-3-ARecr- 1, 2-SrsfRergiu-1-&o

[Option ID = 1345]
2. 4-Bromo-3-pent-2-ene

4-quainic-2-Sor

[Option ID = 1346]
3. 2-Bromo-3-methylpent-3-ene

2-qieit- 3-Afereriic- 3-gor

[Option ID = 1347]
4. 3-Bromo-1,2-dimethylbut-1-ene

3-qat-1, 2-STsARIcTsee- 1 -Sor
[Option ID = 1348]

38) Which of the following reaction is correct?
forgotferRaa 3f 3 wlet 2t srfdrfopam 1t 37
[Question ID = 338][Question Description = 138_40_CHE_AUG22_Q38]

H H CClg H Br
.oy=C * B, ——= )y
H H Br H
[Option ID = 1349]
H H CCly
2. >:< ' By HC=CH
H H
[Option ID = 1350]
H H heat H Br
3. >:< = Bra e HHBT
H H H H

[Option ID = 1351]



4. |-|>:< * Br, —— noreaction

[Option ID = 1352]

39) DDT (dichloro-diphenyl-trichloroethane: C14H9Cls) is a
DDT (sacRI-sEwiord-grsadrRiudel C14HoCls) arar 3-

[Question ID = 339][Question Description = 139_40_CHE_AUG22_Q39]
1. Insecticide

blcaroft

[Option ID = 1353]
2. Herbicide

orepotroft

[Option ID = 1354]
3. Pesticide

disaonoft

[Option ID = 1355]
4. Germicide

Jemuoiroft
[Option ID = 1356]

40) H»O Isomerization
HC=CH

Hg?*/H*1333K

In the above reaction, A and B are

H,O Isomerization

HC=CH
Hg?*/H*1333K

IEd T A A 3R B e £

[Question ID = 340][Question Description = 140_40_CHE_AUG22_Q40]
1. Geometrical isomers
Genfareier Jrermaerdt

[Option ID = 1357]
2. Functional group isomers
fpRITeoa M3 AHTRI

[Option ID = 1358]
3. Metamers
FIERICRIAT

[Option ID = 1359]
4. Stereoisomers
ferferer JrotraRIdt

[Option ID = 1360]
41) Which of the following statment incorrect about alkynes ?

forgoifeiRaa 3 A dlel AT Berol UcbIsall @ ferg sreta & ?
[Question ID = 341][Question Description = 141_40_CHE_AUG22_Q41]
1. First three members are gases
Yt ol 63 31 3
[Option ID = 1361]
2. All alkynes are odourless
JAAIA UeDISal SlerBlol Bl 3

[Option ID = 1362]



3. All alkynes are colorless

A BedIsol IeIdtel Bl &

[Option ID = 1363]
4. They are lighter than water and immiscible with water

UCMISal SfcT A g ael Sicl 3 snfrgufier a1d &

[Option ID = 1364]

42) Forthe Tollowing reaction:

&t g arfufrar & -

Conc. H:S0
S R, B

'x%:

[Question ID = 342][Question Description = 142_40_CHE_AUG22_Q42]
1. (CHs3)2C = CHCH3

[Option ID = 1365]
2. CHsC = CH

[Option ID = 1366]
3. (CH3);CHCH,CH;3

[Option ID = 1367]

4./\{

[Option ID = 1368]
43) On reaction of ethene with Baeyer’s reagent, the product is

R 3ifrpdics D AT vellor i sifdifdpn Brel UR Icurc dolar 3-

[Question ID = 343][Question Description = 143_40_CHE_AUG22_Q43]
1. Ethane

REs

[Option ID = 1369]
2. Ethanol

wdoifel

[Option ID = 1370]
3. Diethyl ether

STsufdrer e

[Option ID = 1371]
4. Ethylene glycol

sercflol scTSapIeT
[Option ID = 1372]

44) CLCHCOOH  CICH,COOH  CICH;CH;COOH CgHsCHo,COOH
A B C D
The increasing order of pKa values of the compound (A to D) follows the order
CI,CHCOOH  CICH,COOH  CICH;CH;COOH CgHsCH2COOH
A B C D

Tt (A T D) F pKa AFI T 52al HH, - H3al &

[Question ID = 344][Question Description = 144_40_CHE_AUG22_Q44]
1. D<C<B<A

[Option ID = 1373]



2. B<C<D<A

[Option ID = 1374]
3. C<B<D<A

[Option ID = 1375]
4. A<B<C<D

[Option ID = 1376]
45) Which of the following diazonium salt is most stable?

forgoiferiRad 3 A Blol AT SIEUSGIRIA cIduT A SAIGT TS 3?7

[Question ID = 345][Question Description = 145_40_CHE_AUG22_Q45]
1. p-nitrobenzene-diazonium chloride

p-olsidstlor- SSUSleiRET TelREs

[Option ID = 1377]
2. 2,4-dinitrobenzene-diazonium chloride

2,4-ST5olsq)dotior- SEYGHoReT TeilRIss

[Option ID = 1378]
3. 2,4,6-trinitrobenzene-diazonium chloride

2,4, 6-crsonsAldoflor- SSsiolRe dcllss

[Option ID = 1379]
4. p-methoxybenzene-diazonium chloride

p-dtelfaiidsior- sl dcikiss
[Option ID = 1380]

46) NH; (CH3)3N CH3NH, (CH3)sNH
A B C D

The decreasing order of acidity of the amines (A to D) in agueous solution
is
NH5 (CHs)sN CH3;NH,» (CH3)}NH
A B C D
Fog e H THR (A ¥ D) S SiEaT B UeAT HH &
[Question ID = 346][Question Description = 146_40_CHE_AUG22_Q46]

1. A>B>C>D

[Option ID = 1381]
2. B>D>C>A

[Option ID = 1382]
3. A>C>D>B

[Option ID = 1383]
4, D>C>B>A

[Option ID = 1384]

47) Select the correct statement for cellulose?
AcIcllA D aR A Al DAl DI Yol :

[Question ID = 347][Question Description = 147_40_CHE_AUG22_Q47]
1. Cellulose does not found in plants.

AgetA ulell 37 o18l R Sirer &

[Option ID = 1385]

2. Cellulose is a straight chain polysaccharide composed only of a -D-glucose units which are joined by glycosidic linkage between C1 of one glucose
unit and C4 of the next glucose unit

el e el gae uifeRidarss & Sl dact A -D-acidIRt srsal 3 Joll Bl & Sl U aeidIA 518 @ C1 3IR 3plell aefplRt s @ C4 D dia sensoRisst 4 A gfsd 8
[Option ID = 1386]



3. Cellulose is a branched chain polysaccharide composed only of a -D-glucose units which are joined by glycosidic linkage between C1 of one glucose
unit and C3 of the next glucose unit

Ageirt v onf¥ad gfact difeRidrss & Sit dact a -D- st sorseil A Folt ST 3 Sit v efdRt 301 @ C1 3l sperefl syt s @ C3 & dffa sersarRirsst de A Jsd &

[Option ID = 1387]
4. Cellulose is the most abundant organic substance in plant kingdom.

el UIGU SPIA 31 AT Y2 ] 31 URI Sllol alell PIeford ucref &

[Option ID = 1388]

48) Select the correct statement
I DU Jol :

[Question ID = 348][Question Description = 148_40_CHE_AUG22_Q48]
1. The warm soil emits UV radiations only.

ot 31l daer UV fafdpaur @1 3carsior ot 8

[Option ID = 1389]
2. Heat cannot be trapped by O3 and CFCs

P 03 3iik CFCs 31 yoydla oidt &t s Jepedt &

[Option ID = 1390]
3. Plants do emit infrared radiations

i) 3raep fafdpur 3Afslia v 3

[Option ID = 1391]
4. Methane is not a green house gas

1Yot Bf3rs At ordl 3
[Option ID = 1392]

49) Brompheniramine is commonly used as
FIIBIoRIFIGT AHIGITRIT IURIIeT b} Siredt 3 :

[Question ID = 349][Question Description = 149_40_CHE_AUG22_Q49]
1. Antipyretic drug

S0l GdI

[Option ID = 1393]
2. Antihistamine drug

yierfgaefiror gar

[Option ID = 1394]
3. Antacid drug

yfer-3m#et Gar

[Option ID = 1395]
4. Antimicrobials drug

Smupiet Gar
[Option ID = 1396]

50) Accumulation of chlorofluorocarbons in the atmosphere results in the depletion of:
ARPIST A TARTARIDIH B AFTRT B URUIERaT SRI 3Idr 3
[Question ID = 350][Question Description = 150_40_CHE_AUG22_Q50]
1. Stratosphere
AN FHSeT DI
[Option ID = 1397]
2. Troposphere
19T ISl BT

[Option ID = 1398]
3. Ozone Layer

3iGilol U I



[Option ID = 1399]
4. Lithosphere

FUCTHSTT BT

[Option ID = 1400]

Topic:- PCB02B

1) Which of the following is NOT an extinct subspecies of tiger?
forrarferRaa 3 A Plet A1 arEl & v fage 3u-yenfer ol 37

[Question ID = 351][Question Description = 101_39_BIO_AUG22_Q01]
1. balica

i3

[Option ID = 1401]
2. altacia

SrereTi¥rer

[Option ID = 1402]
3. sondacia

SRR
[Option ID = 1403]
4. virgata

qaIfel
[Option ID = 1404]

2) A sewage treatment process in which a portion of the decomposer bacteria present in the waste is called

u Hidet oiterot gftpen R o 3 Hisg Siodisr IR o1 v 33 war sirar 3

[Question ID = 352][Question Description = 102_39_BIO_AUG22_Q02]
1. Primary treatment

JreIfdrep 3udrR

[Option ID = 1405]
2. Cyclic treatment

TDRT JUAR

[Option ID = 1406]
3. Activated sluge treatment

JAfeRr Jctat edic

[Option ID = 1407]
4. Tertiary treatment

el 3uar
[Option ID = 1408]

3) Rearrange the following in correct sequence to accomplish a successful polymerase chain reaction
A. Denaturation of ds-DNA to genomic DNA tempelate

B. Thermostable DNA-polymerase to enzyme DNA-polymerase

C. In vitro synthesis of region of DNA of interest

D. Synthesis of oligonucleotides by primers

E. Nucleotides complimentary region of DNA

Choose the correct answer from the options given below

o FAecayul Sia GlenfSrh! yferfapm I gt wel @ fére adare siopapdl 3 foefeiRaa o fib2 1 onfdrer @3
A. 3ie-Siuoie @1 Silollfdie Steste ¢ucie 3 faameiiaur



